DU MA Philosophy

Topic:- DU_J18_MA_PHIL

1) Immanent universals are-

it AT § :
[Question ID = 4605]

1. Outside space and time/f&@ 31X &Ta ¥ TX [Option ID = 18420]

2. Parts of their instances/3(0- EFidl & HFT [Option ID = 18417]

3. Present nowhere /&g Yl 3UfYd =781 [Option ID = 18419]

4, Present in their instances /39 TETA! H 39T [Option ID = 18418]

Correct Answer :-

« Present in their instances /39 il # JURYT [Option ID = 18418]

2) Which of the following represents the correct translation of 'Every student is both clever and ambitious’ .

frafafae 7 ¥ o9 91 vl o 9TaTe R Aeareiel § ' & 98t argare &1 ulafafiea sear g1

[Question ID = 4584]

;. ®[ExCX)DAX] o 1b = 18333]

2. X (SXD(CXVAX)] 50ti0n 1D = 18335
3, ®)[SxD (Cx*AX)] (option 10 = 18336]
4, ®) [(Cx * AX)DOSX]  (option 1D = 18334]

Correct Answer :-
. X)[ExD (Cx*AX)] [option 1 = 18336]

3) Which of the following would the utilitarian regard as wrong in all possible circumstances?

e & ¥ o= a1 @it Surfaa oifRufagt o Sugifiamed & ol e g
[Question ID = 4589]

1. Violating someone's rights/ fdb&T & USRI &1 Jeeia- BT, [Option ID = 18353 ]

2. Performing an action that is not optimific./ U& U091 &H &1 ol @HdH T8l &1 [Option ID = 18354]
3. Killing an innocent person./U& f4aiW aafdd &1 TRATI [Option ID = 18355]

4, None of these/ 3Uddd o ¥ ®is a!| [Option ID = 18356]

Correct Answer :-
« Performing an action that is not optimific./ T THT &1 ST &l oTHa =8l &1 [Option ID = 18354]

4) Which of the feminist theory argues the significant connections between the oppression of women and oppression of nature?

Fafafea & ¥ o a1 aflard) figia Gt 9t wars—n vd vl &) wars—1 & A v Aeayef graw w=fid $3ar 82
[Question ID = 4611]

1. Ecofeminism Orixfeuferest AlaTE [Option ID = 18443]

2. Radical Feminism/ 3% AIaTE [Option ID = 18444)

3. Liberal Feminism/ 3gRdral ARIATE [Option ID = 18442
4, Socialist Feminism/ THTS@IG! ARIATG [Option ID = 18441]

Correct Answer :-

« Ecofeminism/ TTRI=4Td®! ARIAE [Option ID = 18443]

5) Which one of the following is the correct meaning of Samvara in the ethics of Jainism?

S -2 & aTER wave v o P ¥ A w  ;

[Question ID = 4595]
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1. Avoiding karmas/@&H T @I HAT [Option ID = 18379]

2. Renunciation of the fruits of action./ & Wd ¥ 1gfd [Option ID = 18380]

3. Destruction of the impressions of karmas/&H & H¥&BTX &1 ¥ & & [Option ID = 18378]

4, Stopping the influx of karmas towards jiva./siid & ®H-Ug1d & 3=Tware &1 a3 [Option ID = 18377)

Correct Answer :-

« Stopping the influx of karmas towards jiva./Siid H &H-Ug1d & 3Harg @ [ [Option ID = 18377)

6) Which one of the following philosophers has coined the term "Deep Ecology"?

Frafafaa & & g greffe 3 "Su-seiail g H T H R -

[Question ID = 4593]

1. Simone de Beauvoir/ f¥T € g3 [Option ID = 18370]
2. Susan Moller Okin/ I HIeR &+ [Option ID = 18369]
3. Arne Naess/ 3 =9 [Option ID = 18372]

4. John Rawls /91 3ied [Option ID = 18371]

Correct Answer :-
+ Arne Naess/ 3 =9 [Option ID = 18372]

7) If Brahman alone is real, then the world is

IR Paadd g, difay e

[Question ID = 4601]

1.

Correct Answer :-

Neither real, nor unreal, nor both/ 9 @ T, =1 &t 3%, 7 &1 S [Option ID = 18403]
2. Minimally real/ =794 9 [Option ID = 18402]

3. All of these/ FuRiga T+t [Option ID = 18404]

4. Completely real/ Ilufﬂ'ﬂ [Option ID = 18401]

«  Neither real, nor unreal, nor both/ 9 @1 ¥, 9 &1 39, 7 &1 & [Option ID = 18403]

8) In Nyaya Philosophy, knowledge of non-existence is possible by
1q g2 # 3THTE ST T §I9T € : [Question ID = 4574]

1. By abhava/ 31479 ¥ [Option ID = 18296]

2. Perception/ W& q [Option ID = 18293]

3. Either by perception or by inference/ Wed&f 3R 3fHIT &1F ¥ [Option ID = 18294]
4, By anupalabdhi/ Hﬂuﬁﬁi | [Option ID = 18295]

Correct Answer :-
» Perception/ UH& T [Option ID = 18293]

9) Which among the following is not correctly matched?

fFrafafaa & & o= 91 @itsT 98 181 § ? [Question ID = 4613]

1.

3

4,

Correct Answer :-

Herder
gs<

I. Berlin
, AL, Feie

Kant
Fie
Rawls

fud

{eq

Herder
1Y

Absolutism
EESIEEIE [Option ID = 18452]

Positive and negative liberty

[Option ID = 18451]

The concept of perpetual peace

ST STITeT &1 ST [Option ID = 18450]
The concept of Overlapping Consensus

Ffd=griagw = $7 sraemon [Option ID = 18449]
Absolutism

BECEEIC [Option ID = 18452]
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10) Analyze the argument 'All lizards are reptiles. No reptiles are warm-blooded. Thus, no lizards are warm-blooded.’ and decide its
logical status:

gfct &1 fageor ¥ it fsusferat wdigu €1 o1 9y 7 g7 =76 81 o, #1S fsued wf @ 7 it 81 ok suat anfde fRufa aa o
[Question ID = 4579]

1. Both valid and sound/ ﬁﬂﬂ Q’Efl‘:l'é"f [Option ID = 18316]
2. Invalid/ 3{d% [Option ID = 18314]

3. Sound/ ¥@! [Option ID = 18315]

4. Valid/ 9% [Option ID = 18313]

Correct Answer :-
« Both valid and sound/ 21 94 TF He! [Option ID = 18316]

11) Identify the misuse of language in ‘John must be a good man since he is a good politician.’

T TP ST S T 11T i a8 =371 Ao-ay & 59 $YT | U & GEYANT $1 ugar Hl
[Question ID = 4576]

1. Accident/ gHeT [Option ID = 18304]
2. Accent/ TEITHTd [Option ID = 18301]
3. Division/ fd4Ts [Option ID = 18302]
4. Equivocation/ M ECaUR| [Option ID = 18303]

Correct Answer :-
« Equivocation/ 3=&1dT [Option ID = 18303]

12) "My grandfather was a learned man". This is a

"HY gTeTell U FI- oafad o 1" U8 %
[Question ID = 4586]

1. Statement of fact/ TTé® &Y & [Option ID = 18341]

2. Value judgment /HedTdHE fofa & [Option ID = 18343]

3. Relation of ideas /Wedd] &1 Tra® % [Option ID = 18344]

4. Non-moral value judgment / EEIGED PGS fAofa & [Option ID = 18342]

Correct Answer :-

« Non-moral value judgment / =T Hearers Fufg 8 [Option ID = 18342]

13) identify the rule violated in the following syllogism:

All ghosts are scary things. All ghosts are weird things. Thus, some weird things are scary things.
Frrafafea =aragfea # o - Iwe @t gam &
Wt ya swra- i &1 3t ya orcfta i &1 o, To ol JiS st I 2

[Question ID = 4577]

1. Tllicit major/ 3fd4 YIS [Option ID = 18308]

2. Exclusive premises/ faSiw 3R argg [Option ID = 18305]
3. Undistributed middle / 3/e91& A& [Option ID = 18307]
4. Existential fallacy/ {1 O{d G| [Option ID = 18306]

Correct Answer :-
« Existential fallacy/ <1 U¥& &9 [Option ID = 18306]

14) According to who is Paichasila an essential part of ethical life?

frad AR yHeie e oa &1 v afrard e 22
[Question ID = 4594]

1. Both Gautam Buddha and Mahatma Gandhi/flidH g5 3R HeTe it &Hf [Option ID = 18375]

2. Gautam Buddha/TiaH €5 [Option ID = 18373]

3. Mahatma Gandhi/ HgT&T TTidl [Option ID = 18374]

4. Neither Gautam Buddha nor Mahatma Gandhi/ 71 @ Ta¥ g 3R &l Heran el [Option ID = 18376]

Correct Answer :-
«  Both Gautam Buddha and Mahatma Gandhi/fidH €& 3R HeTaT el 17 [Option ID = 18375]

collegedunia:s

India’s largest Student Review Platform




15) According to Plato (and early Bertrand Russell), exemplification or participation is the relation between particulars and
Wel & IIHR (Idadi 0 & AR W), Seedeor a1 gy vy g v ....... & Y B :

[Question ID = 4606]

1. Immanent universals/ et g [Option ID = 18422]

2. Logical universals/ T amrg [Option ID = 18421]

3. Substantive universals/ dRdfd@® WTHFT [Option ID = 18424]
4, Transcendent universals / 3fefif=T TTHG [Option ID = 18423]

Correct Answer :-
« Transcendent universals / 3cif=<d HHA [Option ID = 18423]

16) which one of the following is not a correct symbolization of DNF:

frafaf@a & & #1991 DNF &1 98! diere® 9 781 8: [Question ID = 4583]

; (p Qv [Option ID = 18331]

v
; B [Option ID = 18329]

(p.~q.1) v(~p.~q.~r)

3 [Option ID = 18330]

4. ~(P*a) v™(P*T)  ohion 1D = 18332]
Correct Answer :-

. “(pea) v™(Per)  (onton 10 = 18332]

17) Traditionally the laws of thought are:
1. law of non-contradiction

2. law of identity

3. law of contradiction

4. law of excluded middle

Which of the following is correct:

WRAT ¥4 & ffaRl & &1 §:
1. 17 Ty &1 fAam
2. guEudl &1 fFrag

[Question ID = 4581]

1.1, 3 and 4 [Option ID = 18324]
2.1, 2 and 4 [Option ID = 18323]
3.1, 2 and 3 [Option ID = 18321]
4. 2, 3 and 4 [Option ID = 18322]

Correct Answer :-
= 1, 2 and 4 [Option ID = 18323]

18) Metaphysics makes us believe in the existence of only

Tt fraa w1 Ry sadt £ 2
[Question ID = 4603]

1. Relations/ Tdef T [Option ID = 18411]
2. All of these/ 3ulad T4 [Option ID = 18412]
3. Things/ @&t &1 [Option ID = 18409]
4, Properties/ T[0T &1 [Option ID = 18410]

Correct Answer :-

« Al of these/ IuRtad I+ [Option ID = 18412]

19) Metaphysics is the study of
aadmET frast uan &1 Ay Fdt €2
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[Question ID = 4604]

1. Positive facts/ §hRI&® d2f &1 [Option ID = 18413]
2. Possible Facts/ HTHTd i &1 [Option ID = 18415]

3. Negative facts/ FroeaTa qwdf &1 [Option ID = 18414)
4, All of these/ IRiad Tt [Option ID = 18416]

Correct Answer :-
« All of these/ IuRad Tt [Option ID = 18416]

20) Metaphysics is the study of
AT ST E

[Question ID = 4602]

1. What needs to be there/ &1 3ff-ard g1 A1fed [Option ID = 18405]

2. What need not be there/ &1 3ifard &1 g1 =1f8d [Option ID = 18406]

3. What existing things are like/ TwTaT F%U Wit & 37 [Option ID = 18407
4, None of these / IURIad H @13 gl [Option ID = 18408]

Correct Answer :-
« What existing things are like/ TTaT a%d SI¥T & 39T [Option ID = 18407]

21) A skeptic argues that

U HYgard! g d% car ¢ ¥
[Question ID = 4567]

1. It is possible to know after some difficulty/ Eﬁ"épl H’Tf?FET'?: & g T Hud % [Option ID = 18266]
2. It is possible to know after great difficulty/ &8l Sf&-1E & @18 T FHd & [Option ID = 18265]
3. It is not possible to know/ I H4d & 77g! & [Option ID = 18267]

4, None of these / IURIa H @13 ! [Option ID = 18268]

Correct Answer :-
« Itis not possible to know/ 9 ¥Hd & T8 & [Option ID = 18267]

22) 22. Which of the following is false as per Aristotles’s concept of eudaimonia?
SR BT GBTFHITGT BT SAURYNT & AR FHffEd § | S99 Y 3R & [Question ID = 4587]

1. In the state of eudaimonia people realize their capacities and are fully human/ geTgHIar &1 fRufa & @1 gt amarsfl &1 GBI #id € iR T ave 9
T4 8ld €1 [Option ID = 18347]

2. Eudaimonia consists in achieving greatest happiness of greatest number/gsTsHIaT 7 sifteran T@ sfiean @ & fow &1 [Option ID = 18346]

3. Eudaimonia is a supreme human good./g8TgHI-AT U& Hai= W14 3378 & | [Option ID = 18345]

4, A eudaimon life consists of all intrinsically worthwhile actions/I8T8HA Sita+ # ffgd € &1 &1 ¥ules Wied & ¥4 H & H [Option ID = 18348)

Correct Answer :-
» Eudaimonia consists in achieving greatest happiness of greatest number/gSTEHIFTI H ffidar G&@ 3ifidan @ & el &1 [Option ID = 18346]

23) Hume distinguishes ideas and impressions by their

£9W a9 3R werg ® 4 FvaT § : [Question ID = 4568]

1. Regularity/ f3affraar ¥ [Option ID = 18271]

2. Systematicity/ SIAfEYTaT ¥ [Option ID = 18269]
3. Vivacity/ Foiladl ¥ [Option ID = 18272]

4, Intensionality/ d=TRear ¥ [Option ID = 18270]

Correct Answer :-
« Vivacity/ Guitaal ¥ [Option ID = 18272]

24) Who among the following is not a social contract theorist?

Prafafee § @ o= wmie asiarard T8 2 2
[Question ID = 4616]

1. Immanuel Kant/ SHTHUA %2 [Option ID = 18462)
2. Thomas Hobbes/ 4THH &1sd [Option ID = 18461]
3. 1.5. Mill/ S, TH. e [Option ID = 18463]

4, John Locke/ S19 @& [Option ID = 18464]
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Correct Answer :-
« 1.5. Mill/ &1 T9, fi§e [Option ID = 18463]

25) Who among the following has not given priority to an individual’s liberty over the social good?

frafafee & | e dafeas waar &) g gu @ afie searagf i & 2
[Question ID = 4612]

1. Both Kant & Locke/ @ie Ud die G4 [Option ID = 18448]
2. Hobbes/ &Ts5 [Option ID = 18447]

3. Kant / Wi¢ [Option ID = 18445]

4. Locke/ @& [Option ID = 18446]

Correct Answer :-
+ Hobbes/ gTsH [Option ID = 18447]

26) Who propounded the principle of Arthakriyakaritva
o1 fagia fre ufemfea faear 2

[Question ID = 4575]

1. Dharmakirtjl YH@If [Option ID = 18300]
2. Vasubandhyl T8 [Option ID = 18299)
3. Theravada U3aTg [Option ID = 18298]
4. Nagarjunal SIS [Option 1D = 18297]

Correct Answer :-
« Dharmakirtj SH&Ifl [Option ID = 18300]

27) Who said: "Enlightenment is man's emergence from his self-imposed immaturity?”

= wgn: "THIeT IS &1 - AR srufvuer | argY Frea g2
[Question ID = 4614]

1. Hobbes/ BTs8 [Option ID = 18455]
2. Kant/ %ie [Option ID = 18456]

3. Locke/@&@ [Option ID = 18453]

4, Foucault/ &1 [Option ID = 18454]

Correct Answer :-
« Kant/ &i¢ [Option ID = 18456]

28) How do we get the knowledge of 3kasa according to Jainism?
O R # SHTHT &1 J19 84 P9 UPR g1 g 2

[Question ID = 4571]

1. By Perception/ Ucd& @ §RT [Option ID = 18281]
2. By Intuition/ 3{:TISiT 9 [Option ID = 18283]

3. By Inference/ 391 ¥ [Option ID = 18282]

4, By Sruti/ 4 ¥ [Option ID = 18284]

Correct Answer :-
« By Inference/ 3JHH T [Option ID = 18282]

29) Mill modified Bentham's ethical theory by
fire 3 dyu & Afaw figia &1 S=Nia f&ar [Question ID = 4588]

1. Making a distinction between general terms and singular terms/ [T Wec] 3R UHdd Wea! & ard U NG a41d [Option ID = 18351]
2. Including a qualitative distinction between pleasures/q@ & ¥ TUITE® e TfHferd $ [Option ID = 18350]

3. Rejecting utilitarianism/IUTIFATETE &1 3Rdi®R & [Option ID = 18349]

4. Rejecting notions of obligation by employing logic/dd Fraford &3 & 8¢ aifdd@ & faarl &1 srdlaR 3 [Option ID = 18352)

Correct Answer :-
« Including a qualitative distinction between pleasures/ %@ & &g uNaTd W GfRIIT HIF [Option ID = 18350]
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A problem with coherence theories of knowledge is that
T & HxIadal fRrgid Y gnar g i :

[Question ID = 4570]

1. There are no foundations to knowledge/5H 19 &1 DI YR el © [Option ID = 18277]

2. There is no scope for justification/39H M & fiig 819 $1 IS GHG 78! & [Option ID = 18278]
3. A false theory can be coherent/Us & firgid *ft WerarTar €1 Wear & [Option ID = 18280]

4, All justification is circular/3a% w3t fafg@ur 9% & & [Option ID = 18279]

Correct Answer :-
« A false theory can be coherent/Ud& 3ae firgia it Gxaadr 81 T & [Option ID = 18280]

31) In Vaisesika, pramanas are accepted-

TR A A Her fFd e e :
[Question ID = 4572]

1. Perception, comparison , inference, verbal testimony/Wed&, SHJHH,3UHTH, 2= [Option ID = 18287]
2. Perception, inference only/ad Y&l S 3fTH [Option ID = 18285]

3. Perception, inference, verbal testimony only/&dd g, 3HTH 31X Ysg [Option ID = 18288)

4, Perception, inference, comparison only/dd W&l , A 3R JTAM [Option ID = 18286]

Correct Answer :-
« Perception, inference only/ad W& 3R 3HM [Option ID = 18285]

32) In Prabhakara Mimamsa, the theory of error is called-

wyTEHR Hiaiar § gfe &1 Rrgia seaar g :
[Question ID = 4573]

1. Anirvacaniya-khyati 3fAd=a @nfd [Option ID = 18292]
2. Anyatha-khyati =041 BH1fd [Option ID = 18291]

3. Vjparita- khyatil Tdadia BA1fd [Option 1D = 18290]

4. Akhyatil 3rEafd [Option ID = 18289]

Correct Answer :-
« Akhystj 3@ [Option ID = 18289]

33) John Rawils is belongs to the political tradition of

Wi e P TaAfad WU A g2 gu e ?
[Question ID = 4609]

1. Liberalism/ 3aRdlq [Option ID = 18435]

2. Conservatism/ FEHIE[ [Option ID = 18434]

3. Marxism/ qrafare [Option ID = 18436]

4. Communitarianism/ §HaHdTq [Option ID = 18433]

Correct Answer :-
« Liberalism/ S&RaTg [Option ID = 18435]

34) Identify the fallacy in the following argument:
If the gas is nitrogen, it is colorless and tasteless. The gas is colorless and tasteless.Therefore, it is nitrogen.

fFafafEaa gfea @ adgy &Y gga= &3
gfe g AgeIo &, a1 U8 T8 3R WIge &1 79 TeiH 3 WIeed ¢ 31a:, 98 A18c i+ &1 [Question ID = 4578]

1. Fallacy of affirming consequent/ TR @1 gff &1 ddham [Option ID = 18311]

2. Fallacy of denying a conjunct/ TTTSH & 39®HR &I &I dbay [Option ID = 18309]

3. None of these / 378 T @13 +t &t [Option ID = 18312]

4. Fallacy of denying an antecedent/ Udad & $96R &+ &1 ddba [Option ID = 18310]

Correct Answer :-
» Fallacy of affirming consequent/ GRUTH %1 gf¥ &1 kg [Option ID = 18311]

35) Consider the following statements :

1. True premises and true conclusion together do not guarantee validity.
2. True premises alone do not guarantee validity.

3. A true conclusion does not guarantee validity.
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Decide which of the following is correct

Frafafaa sy=t o far o1

1. T IMYRATH 3R T freed ve a1y Fuar 1 et 781 3
2. Fad e AURETST deaT 31 MRS 781 S

3. U9 6 fresd dear # TR T8l S 1

dg & fF Frfaf@ad s aradi

[Question ID = 4580]

1. 2 and 3 [Option ID = 18318]
2.1, 2 and 3 [Option ID = 18320]
3. 1 and 2 [Option ID = 18317]
4. 1 and 3 [Option ID = 18319]

Correct Answer :-
« 1, 2 and 3 [Option ID = 18320]

36) Whose belief was it that feeling cannot be the motive for moral action; moral action must be done for the sake of duty alone?

fraat uon g it % gwo1 Afve $d & fow tvon =& 8 adt §; Faa Fdoa & gq Afae w4 fFar s TfEe? [Question ID = 4590]

1. Bertrand Russell /8¢ & T8 [Option ID = 18359]
2. 1. Kant/ 3fT$. e [Option ID = 18360]

G. E. Moore/Sit. 3. X [Option ID = 18357]

.

3.
4, 1. S. Mill/ B. %I, T, f&re [Option ID = 18358)

Correct Answer :-
« [ Kant/ &fl'sf Hic [Option ID = 18360]

37) If you know P, where P is any statement, then it follows that

g AMIPHI TFAE, SEI P USH a0 ¢, Al sHA SR gl 8 :
[Question ID = 4566]

1. P could be false/ P 3Hd ﬁﬂﬁ'ﬁ?% [Cption ID = 18263]

2. P need not be true/ P @1 T & 1 S1agadl 7¢l & [Option ID = 18264]
3.Pistrue /PHT & [Option ID = 18261]

4. P may be true / P T &1 ¥&dl & [Option ID = 18262]

Correct Answer :-
« Pistrue/PIT® [Option ID = 18261]

38) Which ethicist argues for the equality of all animals?
S | e Wt SR @ wHEaT & g 9% $a 82 [Question ID = 4592]

1. Peter Singer/dteX f8TR [Option ID = 18367]

2. Amartya Sen/ 3wl o [Option ID = 18368]

3. Kant/&Ic [Option ID = 18366]

4, Bertrand Russell/ ¥¢& I [Option ID = 18365]

Correct Answer :-
« Peter Singer/dtex &R [Option ID = 18367]

39)  |naworld co mprising of a and b which of the following is logically equivalent to ‘(x)(Fx2Gx)’

and (0 x) (Gxe~Ax)
a AT b I=% g7 § fFafef@a § & F19 a1 T £ 4 '(x) (FxoGx)' 31T (x) (Gx * ~Ax) F

SERES ]

[Question ID = 4585]

(Fa o Ga) V(Fb o> Gb)

(Ga » ~Aa) «( Gb » ~Ab)
1. [Option ID = 18340]
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(Fa > Ga) » (Fb oGb)

(Ga » ~Aa) V (Gb » ~Ab)
2. [Option ID = 18338]

(Fa > Ga) «( Fb oGb)

% (Ga » ~Aa) » (Gb = ~Ab)
(Fa = Ga)V( Fbo Gb)

[Option ID = 18339]

(Ga* ~ Aa)V (Gbe ~ Ab)
4. [Option ID = 18337]
Correct Answer :-

(Fa > Ga) «( Fb oGb)

. (Gae~Aa)e (Gbe~Ab) o in1D = 18339)

40)
A: ~(P>Q)

B: ~P o~Q

Which of the following is correct about the above logical pairs designated as A and B
A:~(PoQ)

BinP S0

Al B % &7 & A1 swaa ifwe et Frefate & & 31 & a8

[Question ID = 4582]

1. B implies A/ B A @ Ufdqug (Imply ) ®<l € [Option ID = 18326]

2. A implies B/ A B &1 Ufaoure= (Imply ) el & [Option ID = 18325]

3. A and B are tautologous/ A 31X B WdUd (tautologous) & [Option ID = 18328]
4, A and B are equivalent/ A 3R B HHIe (equivalent) g [Option ID = 18327]

Correct Answer :-

« Aimplies B/ A B &1 Wfaqare= (Imply ) F3ct & [Option ID = 18325]

41)
Match the following:
List -1 List —1II
a. Arnvasatva 1. Jainism
b. Anekantavada 2. Samkhya
c. Astaniga 3. Buddhism
d. Prakrti and Purusa 4. Patarijali

AFaeiEg & Hae &a:

e i
a. FAET 1. S
b. H=IFIddIG 2 HIEg
c. ST 3. dlg ud
d. 9efa 3R 93w 4. gdAfel

[Question ID = 4597]

abcd
1,243 1 [opton 1D = 18388]
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abcecd

.

7 2312 [Option ID = 18386]
abcd

i ¢ 3214 [Option ID = 18387]

abecd

4. 3142 [option ID = 18385]

Correct Answer :-

abcd
« 3142 [option D = 18385]

42) Gandhi’s view does not include:

FfafrfRadd s araidt e e a8 g 2

[Question ID = 4615]

1. De-centralization/ fda&+#Ia30T [Option ID = 18459]

2. Capitalism/ iﬁﬂfﬂ?{ [Option ID = 18458]

3. Gram Panchayat/ ATHYETIA [Option ID = 18460]

4. The notion of trusteeship/ 22T &1 /@YUM [Option ID = 18457]

Correct Answer :-
« Capitalism/ TefiaTg [Option ID = 18458]

43) ‘Caste system is not a merely division of labour, but also a division of labourers’, is the statement of :

qg $y- fFaeT § : o srawn 713 489 &1 faueq 78, a3 ofte! &1 fure= g2
[Question ID = 4610]

1. B.R.Ambedkar/ &, 3R, 3@SH< [Option ID = 18439]
2. M.N.Roy/ TH. T, {[g [Option ID = 18440]

3. Karl Marx/ STeHTR] [Option ID = 18437]

4, M. K. Gandhi/ TH. &, Tiie}f [Option ID = 18438]

Correct Answer :-
+ B.R.Ambedkar/ &1, 3/, 3ffg&< [Option ID = 18439]

44) What is a hypothetical imperative, according to Kant?

Fic & AR, TP TRUTH ATHE ST (FRudfesa grRfeq) w7 &2
[Question ID = 4591]

1. A principle of action that one gives to oneself./ T Tgifde® HH ol TY-TTE HI e &dl & | [Option ID = 18363]

2. A principle of action that one gives to others./ T8 Sgifdd HH Sl TU-UIH &1 USH &dl &1 [Option ID = 18364]

3. A command of reason that depends on our desires./U& 31 St gART sw13if U= F13ft et 81 [Option ID = 18361]

4, A command of reason that does not depend on our desires./T& 3TeXT ol gART g=a1aff TR F1x 781 81 [Option ID = 18362]

Correct Answer :-
« A command of reason that depends on our desires./U 3T ot gART w313 W 1k HXa1 1 [Option ID = 18361]

45) E. V. Ramaswamy Periyar is popularly known for his identification with

5. &, It R Fafafea & fra 9 987 & R e € 2
[Question ID = 4608]

1. Self-Respect movement and Atheism/ HT&- T HGIeH Ud Ali%iedrg [Option ID = 18429]
2. Saiva siddhanta/ BICAR AR [Option ID = 18431]

3. Sarvodaya/ Halgd [Option ID = 18430]

4, Veera saivism/ @X 9/9d1g [Option ID = 18432]

Correct Answer :-
« Self-Respect movement and Atheism/ 3T&- T 3Higla- Ud Aladdlg [Option ID = 18429]
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The statement ‘That thou art’ is taken, from which Upanisad
Sy Tty & Sufug & forar mar €

[Question ID = 4600]

1. Brhadaranyaka Upanisad) 98&R0G® JUT-Yg [Option ID = 18397)
2. Kenopanisad/ #1919 [Option ID = 18399]

3. Chandogyaljpanisad| BTard JUfNg [Option ID = 18398]

4, Taittiriva Upanisad) afedia 3ufAug [Option ID = 18400]

Correct Answer :-
« Chandogyalipanisad] STa™ 399g [Option ID = 18398]

47) The 'six systems of Indian philosophy’ known as 'sad-darsana’ consists of:

“WRAT 32 F1 o yonfera)’ ot @ ‘ggei T s € # g1 §:
[Question ID = 4599]

1. Samkhya, Yoga, Nydya, Vaisesika, Mimamsa, Vedanta/ars], 't‘fl’lT, -4, %@rﬁm, Iﬁ'H'HT, CEALS| [Option ID = 18394]

2. Carvaka, Yoga, Jainism, Mimamss, Samkhya, Buddhism/ =Tdles, i, Sies, diwian, @i, dig 4+ [Option ID = 18395]
3. Buddhism, Jainism, Mydya, Carvaka, Vedanta, Yoga/alg v, S-end, =919, =raie, daid [Option ID = 18393)

4, None of these/ 3Uddd | ¥ ®I5 "g!1 [Option ID = 18396]

Correct Answer :-
« Samkhya, Yoga, Nydya, Vaisesika, Mimams3, Vedanta/ared, i, <o, a=iftes, HiART, 98 [Option ID = 18394]

48) The method of dialectical materialism is proposed by
geTH® Hifawarg @t yomelt fFud gr g 2

[Question ID = 4607]

1. Hegel/ &7 [Option ID = 18425]

2. D. Karl Marx/ STeiHT&Y [Option ID = 18428)
3. Kant/ @i [Option ID = 18426]

4. Socrates/ J&HI[d [Option ID = 18427]

Correct Answer :-
+ Hegel/ 271d [Option ID = 18425]

49) The rationalist philosophers at least believe that

gfeardt enifre o7 @ 0 fayw v & 9t
[Question ID = 4569]

1. Nothing can be known from experience/ 3JHd @ffﬁ.@ Wt =8 S o aFan § [Option ID = 18273]

2. Nothing can be known from reason alone/ %ad §fg ¥ & I 78! &1 &1 §aT € [Option ID = 18275]
3. Something can be known from experience alone/ {4Hd | e A Sl Hehdl % [Option ID = 18276]

4, Something can be known from reason alone/ %dd T ¥ &l $S W o Wbl & [Option ID = 18274]

Correct Answer :-
= Something can be known from reason alone/ Had ad 4 g P ST Sl Hhdl g [Option ID = 18274]

50) The central theme of Jaimini's Mimarhsa sUtra-s state:

Hiwian &1 Sy faug §:
[Question ID = 4598]

1. Then therefore the inquiry into Atman/ SryTal SfTeforgTaT [Option ID = 18391]
2. Then therefore the inquiry into Dharma/ 3{UTal e [Option ID = 18390]
3. Then therefore the inguiry into Karma/3{yret ST [Option ID = 18392]

4, Then therefore the inquiry into Brahman/ 37Tl SrEIfSRITET [Option ID = 18389]

Correct Answer :-
= Then therefore the inquiry into Dharma/ ST et [Option ID = 18390]
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